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Example:
Lets st 58y you want 1o wite 8 standandized. exam where every snswer (abc ) have
o equal chane of bams the answer
‘Exdreme example: 7 Questions with 2 possible answers

01, Answer:B . So Q2, Answer A fhen ifs even

New way: Flip & con foc each queshion, heads -A, tails-B. This is a (8ndom
process for eien odds yon want the grobability of A, ©-05, and =05

f}\o&o lets sau L:)owmade & machine fo candomly assig an Baskee 1o each question
3
u? 5 — How dbwe, d\adk W Hhis is tandom?
s oh
Real Example - 400 questions with 5 possible ansiers
A B C D E  Totql 0-01
Epected %0 30 %0 %0 %0 40O H: %"aio'z
Obseved 724 40 76 97 73 UOO ) R-01
The t-statistic X fest
{- XM A 3 (observed -expected)”
oW TE eweded
Test stafistic 'T&%\'l!\g "Qooc‘,ncss of fit
-Re\ates observed {o null (expected) - "Ch —sztvacc&‘
‘When He Tone, Follows Known distribudion “ar
. - @074 §0-90Y (§o-36>  (80-%3°  (30-73Y°
K on our example: X="%0 * T <o %0 Wt %0

> =3\15
‘What does His number mean?
“The X" disfribution depends on degrees of freedom (k)

& (be there were 5 possible a13wers)

&4

eeeeeee

eeeeeee

=

Co bs

&f=2.



New Example - Looling for cacia) biasinthe uy peol of Mlameda (oun
Below is Hhe cacial 818 ethnic omposifion of ﬁs(% indiiduals in the jury pocjl5
Blong with the census proportions:

Race Ethnicity White Black Hispanic Asian Other  Total
Jury Size 780 117 114 384 58 1453
Census Percentage 54% 18% 12%  15% 1% 100%

Expected 9467 76154 1M{36 PS5 1453 M53

N=357=
Ces=94¢
X2 Cas so e wil P&\\CCIL the nul hlﬁpoﬁ\es'(s_ That is, we conclude et ’H\& \'kwﬁ POOI

is fot (epresentative of the population. The X test however does nof fellus anuthing
8bout hich yougs 8 oer or undertepresented.




